Zatacznik nr 1- zestawienie ilosci drewna wg klas jakosci.

Migazszo$¢ | llogé drewna w klasach
nr ., |wp Jwc [s2a [s4
drzewa | gatunek drewna m
3
3B 0,04 0,04
3A 0,28 0,28
3E 0,07 0,07
3F 0,05 0,05
3C 0,06 0,06
3D 0,05 0,05
3H 0,05 0,05
3l 0,05 0,05
3K 0,06 0,06
3J 0,06 0,06
4 0,42 0,42
0,23 0,23
4A Jesion wyniosty 0,09 0,09
4B 0,42 0,42
5 Jesion wyniosty 2,6 120 14
6 Jesion 3,98 3,98
wyniosty 2,83 2,83
0,19 0,19
1,01 1,01
0,28 0,28
1,01 1,01
0,59 0,59
7 e _ 0,56 0,56
jesion wyniosty
0,88 0,88
0,2 0,2
8 Jesion 1,72 1,72
wyniosty 0,42 0,42
0,42 0,42
9 jesion wyniosty 0,07 0,07
0,21 0,21
10 Swierk 1,37 1,37
11 Jesion 0,64 0,64
wyniosty 0,57 0,57
0,3 0,3
1,16 1,16
12 0,19 0,19
Jesion wyniosty 0,05 0,05
0,3 0,3
13 0,8 0,80
jesion wyniosty 0,13 013
0,13 0,13
0,07 0,07
14 0,63 0,63
Jesion wyniosty 0,7 0,7
15 jesion wyniosty 0,78 0,78
0,03 0,03




16

jesion wyniosty

0,46

0,46

0,3

0,3

17

jesion wyniosty

0,48

0,48

1,22

1,22

18

jesion wyniosty

0,28

0,28

0,49

0,49

19

klon jawor

0,86

0,86

20

jesion wyniosty

0,38

0,38

0,42

0,42

21

klon jawor

0,11

0,11

0,06

0,06

0,69

0,69

22

klon zwyczajny

0,32

0,32

0,19

0,19

23

klon jawor

0,6

0,6

24

klon zwyczajny

0,23

0,23

0,16

0,16

25

klon jawor

0,96

0,96

26

klon jawor

1,29

1,29

0,4

0,4

27

klon zwyczajny

0,19

0,19

0,26

0,26

28

jesion wyniosty

0,96

0,96

0,27

0,27

1,19

1,19

0,3

0,3

29

jesion wyniosty

0,88

0,88

0,97

0,97

0,2

0,20

0,4

0,40

30

jesion wyniosty

0,75

0,75

0,49

0,49

0,5

0,5

31

jesion wyniosty

0,85

0,85

0,88

0,88

0,3

0,3

32

Jesion wyniosty

0,19

0,19

0,32

0,32

1,04

1,04

0,5

0,5

33

Jesion wyniosty

0,86

0,86

0,46

0,46

34

jesion wyniosty

0,68

0,68

0,27

0,27

0,42

0,42

35

jesion wyniosty

0,38

0,38




0,29 0,29
0,5 0,5
0,63 0,63
36 . . . i i) ]
jesion wyniosty 0.65 0.65
0,4 0,4
37 jesion wyniosty 0,35 0,35
0,7 0,7
0,48 0,48
0,21 0,21
38 . . . * i) i)
jesion wyniosty 0.29 0.29
0,5 0,5
0,29 0,29
0,2 0,20
0,28 0,28
39 . . . } i) i)
jesion wyniosty 011 011
1 1
0,4 0,40
40 jesion wyniosty 0,28 0.28
0,27 0,27
0,4 0,4
41 Jesion wyniosty 0,31 0,31
0,75 0,75
42 0,27 0,27
$wierk 0,27 0,27
43 Swierk 0,97 0,97
44 jesion wyniosty 0,43 0,43
0,71 0,71
0,71 0,71
45 jesion wyniosty 0,3 0,3
46 kasztanowiec 3,06 3,06
47 Lipa 0,29 0,29
0,19 0,19
0,23 0,23
48 kasztanowiec 3,51 3,51
. 0,19 0,19
49 Lipa
0,25 0,25
0,58 0,58
50 lipa 0,63 0,63
0,23 0,23
0,34 0,34
0,46 0,46
0,43 0,43
51 Lipa 0,54 0,54
0,08 0,08
0,25 0,25
52 kasztanowiec 0.13 0,13
0,31 0,31
0,16 0,16




52a 1,81 1,81
2,33 2,33
0,4 0,4
52B 0,5 0,5
52C 0,2 0,2
6,34 6,34
Jesion 9,75 0.75
53 wyniosty 0.79 0.79
0,32 0,32
1 1
54 klon jawor 0,88 0,88
1 1
0,42 0,42
0,84 0,84
esion 1,59 1,59
55 JWynios’fy 0,85 0.85
0,75 0,75
2 2
56 klon jawor 0.77 0.77
0,4 0,4
0,4 0,4
1,19 1,19
0,1 0,1
57 0,43 0,43
0,32 0,32
0,4 0,4
Jesion 9.8 0,80
58 wyniosty 0,33 0,33
0,46 0,46
0,16 0,16
jesion 0,44 0,44
59 wyniosty 0,44 0,44
0,54 0,54
60 sSwierk 0,28 0,28
0,34 0,34
RAZEM 106,54 10,61| 5,08| 46,84 | 44,01




